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| Answers to questions are to be given only in.E'ngli'sh except in the case of candidatee who have |

Lo opted for Hindi Medium. If a candrdate has not opted for Hde medlum, h1s / her answers in
| ) Hmdt w111 not be valued |
- Questron No 1is compulsory -
- | Attempt any five out of the remalmng six quesnons o
Wherever appropnate sultable assumptlons should be made and md1cated in the
' “ " answerby the candeate

- Workmg Notes shou]d form part of the answer v

. Marks

(a) ABC Ld. 1ssued 9%, 5 yea.r Bonds of 4 1 000/- each havmg a matunty of3 §
- years. The present rate of interest is 12% for one year tenure It is expected
f»that Forward rate.o_f m_terest for oné: year-tenure is gomg to fall by 75 basrs
L pomts and -further by 50 basie pomts for everv next yearm future -for the s;ine

b N o | tenure. This bondhas abeta value of 1 02 andls more popularmthe market

due to less credlt nsk.

_Calculate |

() * Inirinsic value of bond
i) Expectod pricé.of bond in the market
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- shares dropped by 3.2%.

: London or New YOrk market The rates on that date are as under

' Mumbai-London - %743000  €743200

KBC | - Marks

A trader is having in its portfolio shares worth ¥ 85 lakhs at current price.and § 5

cash ¥ 15 lakhs. The beta of share portfolio is 1.6. After 3 months the price of

Determine :

' () Current portfoho beta

' (u) Portfoho beta after 3 months if the trader on current date goes for long_

posmon on% 100 lakhs lety futures.

\

You, a forelgn exchange dealer of your bank, are mformed that your bank has B :
sold aT.T.on Copenhagen for Danish Kroner 10 OO 000 at the Tate of Damsh :

Kroner 1 = ? 6. 5150. You are requrred to cover the transactron elther m R

(@)

L°"1d°n-C‘<'>pélnh"ag'<=-n ~ DKK114200 DKK114350

New York Copenhagen DKK 07. 5670-' DKK 07.5840 Do R e

-' In wh1ch market wrll you cover the transactron, London or New York, and
rwhat will be the exchange proﬁt or loss on the transactron ? Ignore brokerages

On 01-07-2010 Mr X mVested X 50 ,000/- at initial offer in Mutual Funds ata -
face value of 10 each per umt On 31-03-2011 a d1v1dend was pa1d @ 10%' .
‘and annuahzed y1e1d was 120% On 31-03-2012 20% dividend and cap1ta1 N |
gain of ¥ 060perumt was. grven Mr. Xredeemedallhrs 6271 98 units when -

his annuahzed y1e1d was 71 50% over the penod of holdmg

‘Calculate NAV ason 31-03-2011 31-03-2012 and 31—03-2013

;‘ll\ L

For calculatrons cons1der a year of 12 months

KBCx
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2 (a) MrRamxshoIdmgthefo]lomngsecunues _ -_ - .
Partlculars of ° Cost  Dividends . Market Price Beta
Golstd | B 1000 1800 20 0§
'-':.,SllverLtd | -1;6,660. 1,000 17,100 08
:'BronZeLtd 12,000  sw 18000 06
'-'._-'._"::GOIBonds : 40000 o 4000 37-,509 | _h'1.,o
___;hz;calculm L |

- )-.-( ) Expected rate of return m each case, usmg the Cap1tal Asset. Pncmg

Model (CAPM)

| .(n) Averagetateofretum, ﬁnskfreerateofretum is 14%.

®

-An AmEm:an ﬁrm 1s under obligation to pay- interests of Can$ 1010000 and 8

: Can$' 705000 on 31lt Iuly and 30th September respectlvely ‘The Fu'm is risk -

. -avetse ] _df.-us pohcy is to hedge-the risks mvolved in all -fore1gn currency

R .'. -transaet:ons': The Fmance Manager of the firm is thmhng of hedgmg the risk = - -

in, two methods ie. fixed forward or optlon contracts.

- .It 48 nov une 30 Fo]lowmg quotatlons regardmg rates of exchange, US$ per

CanS ﬁ-omtheﬁrm sbankwereobtamed
. ﬁ-i""'-.:" : f_ fSpé't_ - 1 Month Forward 3 Months Forward: |

0_.9301 '- 09356
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" 'Pnce for a Can$ ! US$ optron on a U.S. stock exchange (cents per Can$

payable on purchase of the optlon, contract s1ze Can$ 50000) are as follows

© 'StrikePrice ~ Calls Puts
V'?(US$ICan$) .Ju]y:_.'. CSept.  July Sept.
oom 1s - -2'__.56 0.88- 175
094 | _..1'.62» - N-A"""-_ ‘NA NA
"I' 095 .i0'.65.’- | _’-1.64_ 192 o am

AccOrding to the suggestion of finance manager if options are to be u'sed one

month option should be bought at a strike price of 94 cents and three month.
"'"Optron at a stnke pnce of 95 cents and for the remamder uncovered by the

_options the ﬁrm would bear the risk itself. For th1s, it would use: forward rate

as the best estlmate of spot. Transactlon costs are 1gnored

RecOmmend- which of the above two methods would be appropriate. for the

Amencan ﬁrm to hedge its forergn exchange rrsk on the two mterest'
-payments |

. ABC L. is 'contemplating having an access to a machine for a period of 5
' years The company can have the use of the machme for the snpulated penod

| through leasmg arrangement or the requ1s1te amount can be borrowed to buy

- 10

' .[._the machme In case of leasmg, the company recerved a proposal to pay | -

annual end of year rent of 2. 4 la.khs for a penod of 5 years |

- KBC
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‘ In case of purchase (wh1ch costs ( 10, 00, 000/-) the company would have a‘ -
_12%, -5 "year loan to be paid in equate_d mstallments, each mstalln}ent
,. b_ecorhi'ng due at-the.begihnihg of each )tear. It is estilttated'-that.the machine
can be sold for f 2,00,000/- at the end of 5 year. The company uses s__tta_ight -
line method of depree_iation. Corporate tax rate is 30%; Post' tax cost of cepital .
of ABC L. is 0% | o |
~ You are requu'ed to adv1ce

D) - Whether the machme should be bought or taken on lease, |

. (11) Analyse the ﬁnan01a.1 v1ab1hty from the pomt of view of the lessor

assummg 12% posttax cost of cap1ta1 B P

onf_ti-@,lfo% f‘orSyears PV ofT1@ 12% for 5 years

Ve

1 . '-,;909' | | o s 893 '
2 '. N 86 . _;797"
_4 3'__’ Co ._l..7-5"1' " B '. .' :. .712_ _.
4'.4,_ ..683. '. o 636
s '."62:1__ - 56T

®) M/s Atlémtic Compa.uy Limited with- a turnover of X 4 80-crores is expecting 3 6
| growth of 25% for forthcommg year, Average credit perlod is 90 days The
past expenence shows that bad debt losses are 1 75% on sales. The
- Company s adm1mstenng cost for collecting recelvables isX6 00 000/- ~
| KBC - .PTO.
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=_f-fIt hds decrded to take factormg servrces of Pacific Factors on terms that factor '
will ‘buy receivables by chargmg 2% comm1s31on and 20% nsk w1th recourse |

' The Factor will pay advance on receivables to the ﬂm_lat 16% mterest rate | _

- . per annum after w1thholdmg 10% as reserve.

'Calculate the effectlve cost of factormg to the ﬁrm, (Assume 360 days m a

year)

) Tropt Co Ltd promoted by a Multmanonal group “INTERNATIONAL
o INC” is listed on stock exchange holdmg 84% ie. 63 lakhs shares :

Profit after Tax is ¥ 4.‘80 crores. .

‘Free Fl_Oat Market Capitalization is ¥ 19.20 .cro'res. _

As per the SEBI guidelines pro'moters» have to restrict their holding to 75% to

~ avoid delisting from the stock exchange Board of Drrectors has decrded not
" to delist the share but to comply. wrth the SEBI gmdehnes by i 1ssu1ng Bonus. |

_ _shares to minority shareholders while maintaining the same P/E_ ratr_o. =

Calculate -

() P/ERatio

-, (ii) Bonus Ratio

(m) Market price of share before and after the issue of bonus shares e

‘ (1v) Free Float Market caprtahzatlon of the company. after the bonus shares

KB
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(b) The Easygomg Company Limited is con31denng a new pro;ect w1th initial - 8.

o mvestment, for a product “Surv1va1” Itis eshmated that m of the pro_1ect is

16% having an estimated life of 5 years.

Financial Manager has studied the proj_eét with sensitivity analysis and
~ informed that annual fixed éqst.sensiﬁvity is 7_'.8416%,7whereas cost Qf qai)itél _

(discount rate) sensitivity is 60%.
Other information available are :
Profit V..olum_é..R_atio (P/V) is 70%,,
@ mVanable cost ?.60/- per umt :
o Annual Cash Flow 57,500/~ |

Igﬁote Depmciéﬁon .on,initiﬂ irivéétmén_t’ and impact of .taJ;ation.-
Cal_culat'e" |
(1) . .Imtlal Investment of the Pl'OjeCt

(u) _‘ ‘.:-_Net Present Value of the Pro;ect _ o

. (iii) -Annual Fixed Cost |
(iv) Esumated annual unit of sales

_ | ) | Break Even Units

.Cumulative Discounting Factor for § yeéi_‘s

8% | 9% | 109 | 11% | 12%| 13% | 14% | 15% | 16% | 17% | 18% |

| 3993 | 3890, 3791 | 3.696 | 3.605 | 3.517 | 3433 | 3352 | 3274 | 3.199 | 3.127

KBC _ " P.T.O. -



- Liabilities T Assets | T
Bty Coprar " foen 50,000
(70,000 shares) 7,00,000 |
| Retained earn'ings 3,00,000 .Dehtors | 70,000 |
' 12% -Debentures. '. 3,00,000 '.Iny_entorie's 2,00,000 f;.
" | Creditors and other | Pams&EBqt 13,00,000 |
Kiabilities '" _.’3,_'2_0,000 . o
| 16-,20,000‘, R - | 1620000 |

®)

. Marks

5. (@ M/s Tlger Ltd. wants fo acqmre M/s Leopard Ltd The balance sheet of
' : Leopard Ltd. as on 31St March, 2012 is as follows : ' '

10

'_Additional information :

@ . Shareholders of Leopard Ltd. w1]1 get one share in Tlger Ltd. for every -

* two shares. Extemal habﬂmes are expected to be settled at ? 5,00, 000 |

Shares of Tlger- Ltd would be issued at its current pnce of . 15 per
share Debentureholders will get 13% convemble debentures in the '

- purchasmg company for the same amount Debtors and mventones are

L expected to realize ¥ 2 00,000

(n) Tlger Ltd has decided to operate the busmess of Leopard Ltd as a.
| separate d1v1s1on The d1v1s10n is hkely to g1ve cash ﬂows (after tax) to
the extent of ¥ 5,00, 000 per year for 6 years Tlger Ltd has planned
' that, after 6 years th1s d1v1s1on would be demerged and dlSpOSCd of’ for |
" r 2 00 000. - | |

(m) The company s cost of cap1ta1 is 16%




®)

feasrblhty of thrs acqmsmon

®
KBC

- Net present val_ues for 16% for_ T1are a_s follows :

E

2 |

3 .

.PV

| ..862

743

el

552

- 476

" ;41o -

Ram buys 10 000 shares of X Ltd. at a: pr1ce of ? 22 per share whose beta -

© Marks
Make a report to the Board of the company adv1smg them about the ﬁnanc1a1

- value is 1.5 and sells 5 000 shares of A Ltd. at a pnce of ? 40 per share

6. (@

What is the overall profit / los_s- toRam?

A share of Tensron-free Economy Ltd is currently quoted ata pnce eammgs .

ratio of 7.5 times. The reta.med earnmg bemg 37. 5% is X3 pcr share.

Calculate o

2 havmg a beta value of 2 He obtams a complete hedge by. Nrfty futures -at ?_ ‘
1 000 each -He closes out his position at the closing price. of the next day _
' when the share of X Ltd dropped by 2%, share of A Ltd. apprecrated by 3%

“and d Nifty futures dropped by 15%.

@ The company s cost of eqmty, if investors’ expected rate of retirn’is .
12%. _ . _

(i) ._ Market price of share, 1f annclpated growth rate is 13% per annum with -

same cost of capltal

| (m) Market price per share, 1f the company’s cost of cap1ta1 is 18% and

anticipated growth rate is 15% per annumi, assummg other condmons'

‘remaining the same. .

i \_ Oy
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(b) Your bank s London ofﬁce has surplus funds to the extent of USD 5 GO 000/- 8
for a period of 3 months “The cost of the funds to the bank is 4% pa. It
proposes to invest these funds in London, New York or Frankfurt and obtam
B the best yleld, Wrthout any exchange risk to the bank. The followmg rates of

mterest are avallable at the three centres for mvestment of domeshc funds

| _ there at fora penod of 3 months

London - _~5%.-p.a..
.New .York' ' 8% pa.
' Frank:furt - 3% p.a.

The market rates m London for US dollars and Euro are as under

: LondononNew York | o o
spot 1535000 RN L
imonth 1518
2 month '30/35
o o Smonts 80585
| . London on Fran]cfurt |
% “Spot - 18260090
‘\ . 1 month | ‘ ‘(60/5‘5‘_-» |
1 2 month - 95190 .
Smonth 145/140 |
‘ | B At whxch centre, will the mvestmentbe made & what will be the net gain (to

the nearest pound) to the bank on the invested funds ?



7.

@ Explaih the concept, “Zero date__- ofa _P'roj_ec_t’ .in_ p:oject management.

an N

- KBC ~ - R Marks
'Writé short notes on any four of the following: = N
. _ - ' LT : =16

() XYZ Bank, Amsterdam, wants to purchase Rupees 25 million against £ for

L F fundmg their Nostro account and they have credited LORO account w1th_

Bank of London ‘London.

. Calculate the amount of £’s credlted Ongomg mter—bank rates are per $,

- Z6l. 3625/3700 & per £$ 1.5260/70.

(c) Whatisan _Ex‘change Traded Fund ? What are its key features ?

(@) Whatisan equity curve oi:t ? How does it differ froma spin off 7

(e What is money market ? What are its features ? What kmd of mefﬁc1encles it

s suffering from ?




